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Ship A is sailing towards north-east with

velocity 2=30i 4 5{]); km/hr where ;

points east and ; north. Ship B is at a

distance of 80 km east and 150 km north of
Ship A and is sailing towards west at
10 km/ hr. A will be at minimum distance
from B in :
Options:

1 42hrs.

5 2.2 hrs.
5 2.6 hrs.

4 3.2hrs.
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Four particles A, B, C and D with masses

m, =m, mg=2m, m-=3m and mp=4m
are at the corners of a square. They have
accelerations of equal magnitude with
directions as shown. The acceleration of

the centre of mass of the particles is :
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A particle moves in one dimension from

rest under the influence of a force that
varies with the distance travelled by the
particle as shown in the figure. The kinetic
energy of the particle after it has travelled

3Imis:
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A thin circular plate of mass M and radius
R has its density varying as p(r) = Py ¥ with
P, as constant and r is the distance from its
center. The moment of Inertia of the
circular plate about an axis perpendicular
to the plate and passing through itsedge is
I=a MRZ2. The value of the coefficient a is :
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Four identical particles of mass M are
located at the corners of a square of side
‘a’. What should be their speed if each of
them revolves under the influence of
others’ gravitational field in a circular orbit

circumscribing the square ?

Options:
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A boy’s catapult is made of rubber cord
which is 42 cm long, with 6 mm diameter
of cross-section and of negligible mass. The
boy keeps a stone weighing 0.02 kg on it
and stretches the cord by 20 cm by applying,
a constant force. When released, the stone
flies off with a velocity of 20 ms . Neglect
the change in the area of cross-section of
the cord while stretched. The Young's
modulus of rubber is closest to :

Options:

1 10° Nm

=]

]

5 108 Nm

(]

2 10*Nm

I3

4 10° Nm
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Water from a pipe is coming at a rate of
100 liters per minute. If the radius of the
pipe is 5 cm, the Reynolds number for the
flow is of the order of : (density of water =
1000 kgfrn3, coefficient of viscosity of
water=1 mPa s)

Options:
1 104
> 107

z 10°

2
4 10
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Two identical beakers A and B contain
equal volumes of two different liquids at
60°C each and left to cool down. Liquid in
A has density of 8 x 107 kg/m® and specific
heat of 2000 | kg~ ! K~ ! while liquid in B
has density of 10° kg m’ Fand specific heat
of 4000 kg~ 'K~ L. Whichof the following
best describes their temperature versus
time graph schematically ? (assume the
emissivity of both the beakers to be the

same)

Options:
[}"C
T \a
B
60°C
T X B
T A
60°C 'i
T |~A _aEd B
2 t—
60°C +
ll- Il:,\
T - i —
4 v
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A thermally insulated vessel contains

150 g of water at 0°C. Then the air from the
vessel is pumped out adiabatically. A
fraction of water turns into ice and the rest
evaporates at 0°C itself. The mass of

evaporated water will be closest to :

(Latent heat of wvaporization of
water =2.10 x10° Jkg ~ ! and Latent heat of
Fusion of water =3.36 x10°J kg~ 1)
Options:

, 150g

20g
Bbg
4 130g
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If 102 gas molecules each of mass
1026 kg collide with a surface
(perpendicular to it) elastically per second
over an area 1 m? with a speed 10* m/s,
the pressure exerted by the gas molecules
will be of the order of :

Options:

;. 10°N/m?

5 10*N/m?
5 108 N/m?

4 1016 N/m?
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A steel wire having a radius of 2.0 mm,
carrying a load of 4 kg, is hanging from a
ceiling. Given that g=3.1 m ms 2 what
will be the tensile stress that would be
developed in the wire ?

Options:

1 5.2x10° Nm

(=]

[

5 3.1%10° Nm

]

3 6.2X 10° Nm

4 48x10°Nm™?
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A B
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A wire of length 2L, is made by joining two
wires A and B of same length but different
radii r and 2r and made of the same
material. Itis vibrating at a frequency such
that the joint of the two wires forms a node.
If the number of antinodes in wire A is p
and that in B is q then the ratio p:qis:
Options:

1 1:2
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The bob of a simple pendulum has mass
2 g and acharge of 5,0 pC. Itis at restina
uniform horizontal electric field of intensity
2000 V/ m. At equilibrium, the angle that
the pendulum makes with the vertical is :
(take g=10 m/s?)
Options:
] tan—1(0.5)
5 tan~1(5.0)

, tan"!(20)

102
i tan~" (0.2)
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Options:

, tan~1(05)

> tan~1(5.0)

5 tan~1(20)

102
i tan—" (0.2)
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, an~1(05)
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o tan~1(20)

102
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A solid conducting sphere, having a charge
Q, is surrounded by an uncharged
conducting hollow spherical shell. Let the
potential difference between the surface of
the solid sphere and that of the outer
surface of the hollow shell be V. If the shell
is now given a charge of —4 Q, the new
potential difference between the same two
surfaces is :
Options:
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Voltage rating of a parallel plate capacitor
is 500 V. Its dielectric can withstand a
maximum electric field of 10° V/m. The
plate area is 10 ~ 4 m?. What is the dielectric
constant if the capacitance is 15 pF ?
(given e, =8.86 x 10~ 12 C?/Nm?)

Options:

; 6.2

5 38
o 45

4 85
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For the circuit shown, with RE=I.D (1,
R2=2.D Q, EI=2 V and E?_=E3=4 V, the
potential difference between the points ‘a’

and ‘b’ is approximately ( in V) :

-.VEEJJ. ] a M '-I.ir].a i
WY &+ W,
A ,
¢, T
£ = Ry = R
o .-'I j_ : %'::: 1
T Ez g
\\'ﬂ'-'l"'i'i'h'll'lu. ry
R, b
Options:
, 3.7
5 3.3
sl TF
2.3
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Correct Marks: 4 WrongMarks: 1
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.
L
WA i SN0
,é J*E%
. =R, I -
=¥ i SR
""-_."'.v-'- _‘I,-I'fl'.'. I Ez :T
R, P
Options:
1 3.7
o Fad
gl DY
4 2.3

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A circular coil having N turns and radius r

carries acurrent L Itis held in the XZ plane

in a magnetic field B .;". The torque on the
coil due to the magnetic field is :

Options:
. Bmr2IN
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An alternating voltage v(t)= 220 sin 100t
volt is applied to a purely resistive load of
50 £). The time taken for the current to rise
from half of the peak value to the peak
value is

Options:

1 2.2ms

o 3.3 ms

3_5r:n_'=.

)
4 7.2 ms
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Options:
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33ms

3_51115

s 7.2ms

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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A thin strip 10 cm long is on a U shaped
wire of negligible resistance and il is
connected to a spring of spring constant
0.5Nm ! (see figure). The assembly is kept
in a uniform magnetic field of 0.1 T. If the
strip is pulled from its equilibrium position
and released, the number of oscillations it
performs before its amplitude decreases by
a factor of e is N. If the mass of the strip is
50 grams, its resistance 10 {1 and air drag

negligible, N will be close to :

4 50000
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A 20 Henry inductor coil is connected to
a 10 ohm resistance in series as shown in
figure. The time at which rate of dissipation
of energy (Joule’s heat) across resistance is
equal to the rate at which magnetic energy

is stored in the inductor, is :

i 10 L)
_:-"b_\'ﬁ'-".‘\.""'-'ﬁ'r_k
E-L §20 H
S =
Opti_ons:
1Ir|2
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5 2In2
2
z In2
4 In2

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

TF 20 T I FUSEl H 10 3 gy |
groft § et e g 5 o fam § et g
e WY & FHeli (S F1) T S
FUea| H Giad TEHg F9 FH 5 F FAA
21, 39 FEA HI AT Hiferd |

i 10 0}
—_‘,v"'—..-"‘-,."'.,-"".-"
E g20 H
I 1
Options:

:
@collegedumas
India’s largest Student Review Platform



Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

2lg[dHl Gtz 1HIEL 20 Henry AL 2200
10 QAL 2zl @2 3ol sddd ©. sl
et bl HHic God cauel 82 (st G sjuouyl
Hues wnedl 2ol Gaddl €2 1o A d W

ALAL MY £,
i 1002
——M—
E-L %zﬂ H
¥
Opti_ons:
lInE
1. 2
o
2
= In2
" In2

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

A plane electromagnetic wave travels in
free spacealong the x-direction. The electric
field component of the wave at a particular
point of space and time is E=6 Vm 1 along
y-direction. Its corresponding magnetic
field component, B would be :

Options:
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) 2%x10°8T along z-direction

5 6x10° 8T along x-direction

3 2% 108 T along y-direction

4 6%107 % Talong z-direction
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Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
An upright object is placed at a distance of

40 cm in front of a convergent lens of focal
length 20 cm. A convergent mirror of focal
length 10 cm is placed at a distance of
60 cm on the other side of the lens. The
position and size of the final image will
be :

Options:

40 cm from the convergent mirror,

same size as the object

20 cm from the convergent mirror,

same size as the object

20 cm from the convergent mirror,

twice the size of the object

A

40 cm from the convergent lens, twice
the size of the object

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Eﬂcmtﬁlﬂaﬁlﬁﬂlﬁﬂﬁfﬂrﬂﬂﬁﬁﬂ?ﬁ?
A 40 cm 1 T T TE I T9 H T
T ¥ o F gH R 60 cm F S0 W
mantﬁlmwméméwaﬁ‘wﬁaﬁmﬁ
T A E | @Afm Wiates & feafa SR s
=
Options:

ATERT =9 F 40 cm T, F5q & FAH
1 AT

A 99 F 20 cm W, 95 % 94

5 AR T N
- collegedunia:



ATIEME 290 H 20 cm R, T F FTFR
5, AT

AERT 7771 1 40 cm W, 75 & ATHR

4

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
215 Gloll dadr 20 cm Segdeld dEdl w5
Segllodl d-uddl Mol 40 em #icR Y59 O,
el ol syl 60 cm @i @iy bgUGauEl
214l 10 om »id? Y5 8. kel wldlis-l
(2l 214 58 @l :
Options:
Seglleadl »Elauel 40 om, gl sveq
| S 5E

SeglleaEl »eladdl 20 em, 9L wved
o> & 58

SegUGa] el 20 cm, sl S o
2 5

Seg el d-uedl 40 om, sl | sl
, #d

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In an interference experiment the ratio of
. ) al _ 1

amplitudes of coherent waves is — "~ 5.

dn .

The ratio of maximum and minimum
intensities of fringes will be :

Options:

1 ==
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In figure, the optical fiber is [=2 m long
and has a diameter of d =20 pm. If a ray of
light is incident on one end of the fiber at
angle 0 ! =407, the number of reflections it
makes before emerging from the other end
is close to :

(refractive index of fiber is 1.31 and
sin 40°=0.64)

Options:
, 57000

5 66000
5 55000

4 45000
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Two particles move at right angle to each
other. Their de Broglie wavelengths are A
and A, respectively. The particles suffer
perfectly melastic collision. The de Broglie
wavelength A, of the final particle, is given
by:
Options:
Ay +Ay

2

;

..h:.,HkIhz

%

:
@collegedumas
India’s largest Student Review Platform



2 3.t
2 MM N
I
L MMM

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

<1 FU7 U 5L | o =ed feumad § iaie 2 |
T FHUN FHI S-FWl I A=A HEI;
N, TN, T | 57 O o1 O STy S
B2 | TR 0 ) S -] aiTesd A 5]
THRT H = S g

Options:

z.
z 3.
2 MM N
I
L MMM

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

of 51l 2iso{laa-dl urdel det ald 52 8. auedl <
Al Ao 2 Ay 2, B, 2L 561
Hyel weiqz-ans 2RgHeL 2409 8, YRel
sl 4l cllotel azadens gz
GRL MM 20l 9.

Options:

z. .
@collegedumas
India’s largest Student Review Platform



2 3.t
2 MM N
I
L MMM

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Radiation coming from transitions n=2 to
n=1 of hydrogen atoms fall on He" ions
in n=1 and n=2 states. The possible
transition of helium ions as they absorb
energy from the radiation is :

Options:
1 n=2—=n=5

o n=1—-sn=4
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1 n=2—=n=5
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The reverse breakdown voltage of a Zener
diode is 5.6 V in the given circuit.

200 £

A

r""n"r 1'.'1"1'
I 12 l:
9V =800 ()
[ %

The current Iz through the Zener is :

Options:

5 10 mA

= 7 mA

4 17 mA
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Options:

o 10 mA

3 7 mA

4 17mA
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The wavelength of the carrier waves in a
modern optical fiber communication
network is close to

Options: gcollegeduniag
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- 900 nm
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2400 nm

600 nm
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Options:
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Options:
1 1500 nm

> 900 nm

= 2400 nm

4 600 nm
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A 200 €} resistor has a certain color code. If

one replaces the red color by green in the gcollegedunias
code, the new resistance will be : @ Tmn—

Options:



, 1000

5 3000
5 4000

4 5000
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An organic compound neither reacts with
neutral ferric chloride solution nor with
Fehling solution. It however, reacts with
Grignard reagent and gives positive
iodoform test. The compound is:

Options:
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. d
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Maltose on lreatment with dilute HC1
gives :

Options:
1 D-Galactose

5 D-Glucose and D-Fructose

3 D-Fructose

” D-Glucose
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Correct Marks: 4 Wrong Marks: 1
Aieerd 7 HC1 3 MY SAfashd 33 T a1 &
Options:

] Do E

ﬂ |
. DFFm A collegedunia



4 DTIgHFHE

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
54 25l g HC 28w 531 2] 1)

Options:
, Dldsel

, D=5l it D-g2s

, Dl

, D-ogsle!

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Coupling of benzene diazonium chloride

with I-naphthol in alkaline medium will

give :
Options:
N
N
1 OH

:
gcollegedumas
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Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
&R AT H, S SI5E-aH FEEe
1-79efe 3 |19 giea i T 9 A e

Options:
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Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

SIS el oilsy PPl sdRE
1-Atiaedl e sudbl (Coupling) sl 2 wol?

Options:

Z =2

:
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Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major productof the following reaction

15 :

(1) AICL,}, heat
(ii) H

Options:

:
@collegedumas
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Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

= sifafra =1 7= 3= €
O ]
‘_.x'J S ‘ (i) AICl,, ST
O 4 - >
~ (ii) HyO
O
Options:
O

&
_COH o
2 ol / cl
F Yo
2 —
O il
4 O

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
gcollegedunias



AL AL vt Ao -

0 Cl
) l\_ @ (i) ALCL,, Gl
Q-+ +
I o (i) H,0
g i
O

Options:

O

dl

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product of the following reaction
is:
DCHS
Conc HBr (excess)

heat

e

H=CH,

Options:

:
@collegedumas
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. CH,CH,Br
,~C}H
, Br—CHCH,

==
-

‘H

5 2( I Izlir

~Br

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

feferfan sfafmaa =1 91 30

Options:

CH,CH,Br

,~C}H

, Br—CHCH,

:
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Cl IECI I, Br

Br —CHCI I

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

ll2l el ulsiedl Yo vy & ¢

,,Df:H3
g HBr (4 sl)
Gl

CH=CH,

Options:

o

CH,CH,Br

,~DI—I

Br—CHCH,

@

CH,CH, Br

~Br

Br —CHCI I

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sin

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

:
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The major product of the following reaction
is :

O
|

I M“‘m\,-"aBr

NabBH,

\; H MeOH, 25°C
‘a‘v,,-*
Options:
A~ A0
1 L“‘““;'J
OH
A
|
5
(]]H
4"{:-%‘[/"‘ " g OMe
- S

;;-{*:H‘T""% - OMe
9

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Fre1 sifaferan =1 9= 3o ©
;:_:_._-dm ,‘-'JCLE?__;’ Br Na BH4 o
( \” MeOH, 25°C
T

Options:

1 L“*f”|

2. e @collegedunias
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Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AAlziAl Ul 3oy sy 597

ﬁ _Br NaBH,

- s T »
| MeOH, 25°C
ﬁ"H'“':C:_x*"J
Options:
{ ;_;_;x w‘j’ O
1 o e
OH
s #.rlxw,f’ Br
]
2. =
OH

S
|’;:.;::;.'\-.\.\__ T'Jbﬁﬁa o OMe
a

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following amines can be
prepared by Gabriel phthalimide

reaction 7

Options: gcollegedunias



! neo-pentylamine
n-butylamine
-butylamine

triethylamine

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T 58 =9 w1 A e dfemmse afvfwn
SR AR fefan = we & 7

Options:

| Freifee

4 T

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Aot Abuss Ui gt Al wisll 40 2ugq
ol 657

Options:

] A2z i d2AMIE A

5 D42 UEA
A
o EOYREARMIE

4 dHdAGaHIEA

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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The TUPAC name of the following

compound is :

F”S (lf)‘II
HyC—CH-CH—-CH, —COOH
Options:
] 3-Hydroxy-4-methylpentanoic acid

5 4-Methy-3-hydroxypentanoic acid

4,4-Dimethyl-3-hydroxybutanoic
7 acid

2-Methyl-3-hydroxypentan-5-oic
4 acid

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
=1 Aifmw 1 =g g WU HL (IUPAC) M
£
(i OH
H;C—CH—CH—CH, —COOH

Options:

| B-EEEEEIA-AYETETE Ufhe
5 A A 3-BEETEEAE S UHe
o 4A-STEHIA-3- BRI Ufae

4 2-HIA3- BT A-5-3TF T

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Al2iAL HisrA- TUPAC M 2A04L
CHy OH
H,C — CH — CH— CH, — COOH
Options:
| sl Pagal-edds A M collegedunia



5 Ahadad-adgsdi-erids «iks

o 44-slugd -3- wdgsdlodziids wiRs

, 2-(euge-3-aidglsuii-en-5-2185 2ilas

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
An organic compound ‘X' showing the
following solubility profile is :

walter » insoluble
.lx.l

5% HCO

i » insoluble
10% NaOH

# * soluble
10% NaHCO, :
i » insoluble
Options:

1 Oleic acid
5 m-Cresol
2 o-Toluidine

i Benzamide

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

U e AT X 1 e Taerd = =g
yefela T & 20

S » FTTereTT
R

5% HCI . A

16 ;
10% NaOH R
10% I‘{a”CDj hiﬂﬁ#ﬁ[

Options: g (—
i collegedunias
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Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
i 51 2lort X Al Horotel gieddl 3w
gl 8. X

wfl
el gl
fxr
e
J‘-L.EICI ',;.:'-"I_ﬁl_':-"{
10% MNaOH
2 > glex
10% N 0
0% NaHCO, » VLY
Options:
. widls s
5 m-5Hld
5 D-E'l&ljgld

4 Grruds

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In the following compounds, the
decreasing order of basic strength will be :
Options:

i (C,Hs),NH > C,H-NH, > NH,

o, NH3> GHsNH, > (G H5),NH

5 (C,Hs),NH > NH, > CG,H-NH,

:
@collegedumas
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Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

frefafaa Fifmei 4, s ame =1 9za 49
=

Options:

i (C,Hs),NH > C,H-NH, > NH,

o, NH3> GHsNH, > (G H5),NH

5 (C,Hs),NH > NH, > CG,H-NH,

, CGHsNH, > NH; > (C,H,),NH

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

oilzts el fedl 53 2l
Options:

i (C,H:),NH > C,H-NH, > NH,

o, NHz> GHsNH, > (CH5),NH

5 (C,H:),NH > NH, > C,H-NH,

i C,H:NH, > NH, > (C;H;),NH

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The size of the iso-electronic species C1-,
Ar and Ca?" is affected by :
Options:
Principal quantum number of

1 valence shell
- nuclear charge

azimuthal quantum number of
= valence shell g collegedunia:



electron-electron interaction in the

4 outer orbitals

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

= 4 9 f&9% FH1 99sogHl T
Cl~, Ar 991 Ca2* 1 3R F9Tad 20
Options:

1 - N .

o TR =

o TN HI i Tage F=H H&A

y T ] § SeTaH- S A

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

uddseldy 2dlalls C1-, Ar 214 Ca2t AL e
U3 UL glRL BRR UM 57

Options:

| Hllorsell sl W sell-e Al

5 sz o
- Aedlsyseil s8s-L s1ell oA sli-2u 2iis

4 CUEL S8l Sasgi-tasgi b wldla

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

With respect to an ore, Ellingham diagram
helps to predict the feasibility of its
Options:

1 Thermal reduction

- Electrolysis )
: : collegedunia:



5 Zone refining

i Vapour phase refining

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

sferTe sivE v o F A § g fems e
= FEHEA] 1 ANIE H H EHE 988
Options:

;| TG ST

5 TR STee
5 I iR

4 TS WTET TR

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

siell audt deilEld @idblas el (2ugld)
a-dl 58 asacil 2uoudl szuml wEEI &7
Options:

;o Gl Resun

, [ Eous

5 Al Ylgsal

4 ey e 3y (gsel

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

:
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100 mL of a water sample contains (.51 g
of calcium bicarbonate and (.73 g of
magnesium bicarbonate. The hardness of
this water sample expressed in terms of
equivalents of CaCQO, is :

(molar mass of calcium bicarbonate is
162 g mol ! and magnesium bicarbonate
is 146 g mol 1)

Options:

i 1,000 ppm

5 10,000 ppm

5 100 ppm

4 5,000 ppm

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TF 5@ Afaey % 100 mL H 0.81 g FHfewrm
AEFHTAAE TA10.73 g HEH FAEHEE ¢ |
39 W Widey ® FSRA CaCO, F FHIH
&9 H = HH WA

(Fieoas aEFEe a9 F=19EE FEaEe
% HITW FAHE FHW: 162 g mol ! a9
146 g mol ~ 1 ¥)

Options:

: 1,000 ppm

5 10,000 ppm

- 100 ppm

” 5,000 ppm

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
@collegedunias



100 mL el A4-Ai 0.81 g 5[(c24u
opristetidz 214 0.73 g Ho-lR 1M csiel-iz dud
8. Wellrt 24 Ayl s(Ad CaCO, Al ppm
WL sedl 7

(CaCO, 4 ez 81162 g mol ~ ! 24 Aozl
eiisielidz 146 g mol 1 8.)

Options:

;1,000 ppm

& 10,000 ppm

5 100 ppm

4 5,000 ppm

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The correct order of hydration enthalpies
of alkali metal ions is :

Options:

i, ¥ >Na*>K* >Eb™*>Cs?

5 LitT>Na*>K*">Cs™ >Rb"

5 Na*>Li*>K*>Rb* >Cs*

4 Na*>Li*>K*>Cs*>Rb*

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HI ST AT % omre Taed! =1 9l &
%

Options:

, Li* >Na*>K*>Rb*>Cs*

5 Li*T>Na">K">Cs" >Rb"

Na* >Li*>K* >Rb* > Cs* M collegedunia
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4 Nat>Li*>K*>Cs*>Rb"

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

w15l Al UL sectllsr-t Bieand{l2ai-L 1Rl
545 © ¢

Options:

1 Li*>Na*>K*>Rb*>Cs"

5 Li*t>Na">K">Cs* >Rb*

5 Nat>Lif>K*">Rb* >Cs*

4 Na*>Li*>K*>Cs*>Rb*

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Diborane (B,H,) reacts independently with
O, and H,O to produce, respectively :
Options:

. H,BO, and B,0,

, HBO, and H;BO,

% 3203 and 1-1313»!‘.1')3

, B20sand [BH,]

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=154l (BoH,), O, 741 H,O % |19 a4 ®9
Y i S35 FU9: Seafed Hl ©
Options:

, HyBO, @ B,0,

HBO, 741 H,BO,
2. “— [ -

:
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B,O, 71 H,BO,

, B.O; T [BH]

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

SURA (BoH,) 254 O, 2 HAO {2l 2aiciA
{BIESTIE RIRERIEY,

Options:

, H3BO, w B,O,

, HBO, 4 H,BO,
B,O; 21 H,BO,

, B20; ¥ [BH]

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The lanthanide ion that would show colour
15 :
Options:
3 'l
1 Gd

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T T 2EE S T7 Wefvid FOT, ©
Options:
3 4
1 Gd

:
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Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Ar2Alfs @A 5 o7 D 2WEA 6 o
Options:

3 4
1 Gd

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The following ligand is :

Options:
bidentate

5 tridentate
2 tetradentate

4 hexadentate

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sin gcollegedunias
No Option Orientation : Vertical S - e

Correct Marks: 4 WrongMarks: 1



Options:
1 f5=g
i =g
. e

, T

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Al 2y dbu-s o

( TNE,
N.-----"--.
= & = :
> OoONF < O Ve

53 Q\ /\>

Options:
. lEdl

> BEd
AElY

=

4 Meadly

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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The correct order of the spin-only magnetic
moment of metal ions in the following low-
spin complexes, [V(CN)]*~, [Fe(CN)J* ~,
[Ru(NH;)]? *, and [Cr(NH;)g]**, is :

Options:

; V2t >Cr?t > Ru?t > Fe?t

g Gre 2.Ret BFest p W2

g G B VAR Ryt 5 Fe

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

fed T fE-gEE T §HY [V(CN) 4,

[Fe(CN)gl*~,  [Ru(NH;) J** @
[Cr(NH,) P+ H =1q 941 & 9=F0 715
TEHA A HE FHE

Options:

1 Vi-i }Crlr }RUEP‘ }FE,E"

g Crst 3 Rt ZFest » N2

g G 2 VS Ryt 5 Fe

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Al Al wreal dsled [VCN) 4,
[Fe(CN)el*~,  [Ru(NHj)e]** =i
[Cr(NH,)J2* - el dl. d2i aig
il 55 2l 2ol wsHEiAL WL 54l

£
Options:
1 ‘i\‘TE-i}CrEr}Ruar}Fezr
@collegedunias
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o Gret 2 Ret 2 Fett p N2

, CF > V3 > Ru’ > Fe??

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which is wrong with respect to our
responsibility as a human being to protect
our environment 7

Options:

i Setting up compost tin in gardens.

5 Using plastic bags.

2 Restricting the use of vehicles

Avoiding the use of floodlighted
4 lacilities.

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AT % AT g9 THE o WU 6 fan
TN Tl % Hey & = Tetd 27
Options:

, =T H R f e
o T AT A AT FA
5 ATEl % FAF T AidE e

, T T giaens <y | ==

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A ddls udisre] waer st el

sy ABLEIAL HER{HL £ Wig ©7

Options: gcollegedunias



. (UL VIdRAL Soe4L 2lHeL

4 w2y adlziAl SRt

o el REBEA Gualat

dlt usilEld (floodlighted) #Eai-l
4 GwlL 2El,

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Assertion : Ozone is destroyed by CFCs in

the upper stratosphere.

Reason: Ozone holes increase the
amount of UV radiation reaching the earth.
Options:
Assertion and reason are correct, but
the reason is not the explanation for

1 the assertion.

Assertion is false, but the reason is

correct.

Assertion and reason are both correct,
and the reason is the correct

= explanation for the assertion.

Assertion and reason are incorrect.

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T : TIAPRER F T 9 H CFCs G

AreA w1 famer 2an 21

THIOT ; SASRE f2si 9 Jeal W 9gad am
UV fafsoi =1 961 =4 21

Options:

FUF T FAU T & T FRO, FA
| I TE = T 2 .
collegedunia:



o O T & T I W ¥ |

FUA TG FRU SF] TEl § AN FE,
5 U FI HE = FA ¢

, T T F0 I T g

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
altezen © Gur-L syl 2usRerMi CFCs gL
ol AL WA B,
SRL ¢ 2l 2uetsl wreredl [Elsveir seauq
yeell Yell yelaussum quil 52 .
Options:
AL e 51291 L8, Yid, 5101
, AltEzenAl syl -2l

, dERen WEL B, Wi sreL wy .

[CERRIL 2 SREL ol ML E 2 5381
5 = ldERen w2l well il 6.

4 AlMERE A S0l v L AL

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In order to oxidise a mixture of one mole of

each of Fe(C,0,, Fe,(C,0y), FeS50,; and
Fe,(50,), in acidic medium, the number of
moles of I*fIJ."err'l‘{:]"1L required is :

Options:
1.1

5 15

| @collegedumas



Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A 712 H, FeC,0),, Fey(G,0,)5, FeSO,
a9l Fe,(S0,), I9% & U Hiel fagm =1
I F F T AEeEE: KMnO, & Hieli
1 HEA B

Options:

1, 1

i B

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

i[5 wEMHAL, FeC,0,, Fey(CH0,),, FeSO,
el Fe,(S0,), 525+l 1 Wld [Bzte 2isdlban
524l W12 o/3% KMnO), il ld 5zel)

Options:

1

5 15

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Element ‘B’ forms ccp structure and “A’
occupies half of the octahedral voids, while
oxygen atoms occupy all the tetrahedral
voids. The structure of bimetallic oxide is:

Options:

] A,BOy,

AB,O,

2 e
. :
gcollegedumas
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. AB0

, AB0

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T B, cop TTEA1 311 € A4 A’ SRR
fifaaat & =0 § Sufted 21 Safs Afded
T G AqvEeg [ § sufem ¥
feenfeas sifeaEe = 909 ¢

Options:

1 A?_BDr:l

, ABO,

. AB0

, ABO

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

dcdl ‘B’ cop GIEIREL G B Bl ‘AT isEL
wpnzse{ly (Bl 35 & erdin Hilsvsr-1 dH Lol
Adld Agrsas Beid W 8§ dl [gaucdla
pilsuidsn] eieRel ALY

Options:

. A0,

, ABO,

. AB0

, ABO

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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The quantum number of four electrons are
given below :

L n=4.1=2 m;= -2, ==

1I. n=3,1=2, m=1m,= +%2

Ol. n=4,1=1m=0m =+

IV. n=3I=1m=1m=-"

The correct order of their increasing
energies will be :
Options:

I<lI<HI<IV

5 [<I<II<IV

5 IV<II<I<I

4 IV<II<II<I

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

R SelERH] i FEes e A 8 e
L. n=4,1=2 m,= -2, m, = —14

II. n=3.1=2 111].:1,1:115: + 12

. n=4,I1=1, m=0,m,=+%

V. n=3,1=1 mj.=I,mH=—1f:-:
Options:

y I<I<HI<IV

5 [<I<II<IV

5 IV<II<I<I

4 IV<II<I<I

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A2l 207 dasglAdL sul-2 By Bl 8
L. fi=4 =3 m, = —2 m, = — 15
II. n=3I=2m=1m=+%

L n=4,1=1 m=0 m,=+%

IV: n=3i1=1 1'|"1|!=1r m5=—1x’2
Al sl 2zl Ugdl 54 =il

Options:

;. I<I<I<IV

5 [<II<II<IV

5 IV<II<I<I

4 IV<II<I<I

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For silver, C ([ K Imol ~1y=23+0.01T. If

the temperature (T) of 3 moles of silver is
raised from 300 K to 1000 K at 1 atm
pressure, the value of AH will be close to :

Options:
; 13K

w HE
5 16K

4 62K

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fae=r % fag, C,( K~ 'mol ~1)=23+0.01T.

7fa 1 atm T@ T 9792 & 3 94 1 M (1)

300 K 9 =@ 1000 K 31 99 @ AH =1 91

[EXEIEECCa I

Options:

1, BY ¥ collegedunia



= 28

z 16K

4 62K]

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

dlesz 2, C,(J K~ ' mol ~1)=23+0.01T &.
1 aldiazel senel, sd el 3 iad
A3 (T) 300 K 2l 1000 K el sara«l
2l dl, AH L Bud Al=imisll sl A5 997

Options:
; 13K

, 21K
2 16K

4 62K]

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which one of the follow ing equations does
not correctly represent the first law of
thermodynamics for the given processes
involving an ideal gas ? (Assume non-
expansion work is zero)

Options:

L Isothermal process: q=—w

5 Cyclic process: q= —w

= Isochoric process : AU=q

Adiabatic process : AU=—w

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sin gcollegedunias
No Option Orientation : Vertical India’s argest Sudent Reviw Platorm

Correct Marks: 4 WrongMarks: 1



= 8 4+ = gHE gefemaies &
gy fagr =1 foa ™ uwn & fow, fomad
ey 9 ¥, W w9 H WEA dal Fa
(a = ToF AgEmer 1 3 8)

Options:
| HEAE 9 L q= - w

E.WW tq=—w
o T $6H : AU=q

4 TEH TEE : AU=—w

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

el ugel s Aslaal wsd Hie Al wisl
54 w{lsnel Gl auldeist- ueal Hamq e
[Azuel A2l 537 [GrlErdrel sid - ©.
Options:
, Hudnllusn : g=-w

, AU q=—w
- {5t usH 0 AU=q

5 Ml MY AU= —w

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The vapour pressures of pure liquids A and

B are 400 and 600 mmHg, respectively al

298 K. On mixing the two liquids, the sum

of their initial volumes is equal to the

volume of the final mixture. The mole

fraction of liquid B is 0.5 in the mixture. The

vapour pressure of the final solution, the

mole fractions of components A and B in

vapour phase, respectively are : @ collegedunla

Options:



1 500 mmHg, 0.4, 0.6

5 450 mmHg, 0.5, 0.5

= 500 mmHg, 0.5, 0.5

4 450 mmHg, 0.4, 0.6

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

298 K 9 Y5 &9 A 91 B & a5 2 FHA:
400 T 600 mmHg ¥ 1 31 241 #i e ™
I YRS Sgad] &1 9 39 SAfaq fHgm
F g & e 2| fAgw § 29 B & A
AU HW0.5 21 A9 faem 1 9 2= v
A TATB 319941 &1 9% JrEe § 1 0] 391
W:%‘ﬁ:

Options:

; 500 mmHg, 0.4, 0.6

5 450 mmHg, 0.5, 0.5

2 500 mmHg, 0.5, 0.5

4 450 mmHg, 0.4, 0.6

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

208 K31, HAlléL A AL B AL AU¥Y SRl 24454
400 =i 600 mmHg . =i o uadlH ®ou
53ell oML 2L $E-AL Bzl MR 2iau
5% beell w4 . [eserl, vaudl B ALl il
05 &, dl uksusl gias cirusenst 24
MM B2 A WA B AL Hidial
A5

Options:

, 500 mmHg, 04, 0.6

@collegedunias
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= 500 mmHg, 0.5, 0.5

% 450 mmHg, 0.4, 0.6

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If solubility product of Zr,(PO,), is denoted
by I(l‘.P and its molar solubility is denoted
by S, then which of the following relation
between S and I(SP is correct ?

Options:

1/

4 N6
= [—k‘”*’

| y
5=[l“”?_’
| 216

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

G Zry(POy), F fareraa el #1 K, 51
AT THHI Ao faerad F:1S 51 Af9sgad +:3d
B WS MK, F T Tl Fvars 2

Options:

1

= [—K“P

2 N, il
:
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S:{ Kep r

G172
6912 |

14
5=[[““?’J

216
b

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Zr5(POy)y L il ARt K, S YR

539 8 2 d-dl HieR gleddiA S o YR s

O, dl Al 3l S uid K ) cpadl sl 14

1241 7
Options:
. -
N6
S
144 |

N, el

216
b

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

-
[
ot

Given that EDEIHQC’J’: +1.23V;
=
E 5,03~ /503~ ~ 205V

1
E;;F*j,s,u: +14V
The strongest oxidizing agent is : )
@collegedumas
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Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

el 0 %, Egy, 1,0= +1.23 Vi

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

i)

N

¥

s

E

8,087 /s0% T 205V

EE};EF =+1.09V.

Audt jap= T14V 2N 6. wHl xen
slldlsamsdl whus 5417
Options:

:
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Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For the reaction 2A+ B = C, the values of
initial rate at different reactant
concentrations are given in the table below.

The rate law for the reaction is :

[A] (mol L™1)|[B] (mol L™1) E"mi:f]L'iﬁi”_-l]
0.05 0.05 0.045
0.10 0.05 0.090
0.20 0.10 0.72
Options:

, Rate=Kk[A][B]
» Rate=K[A]?[B]
Rate=k[A][B]?

, Rate=Kk[A][B]?

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Af9fHa 2A + B— C & o1, sAfYEr=si =1
fafvs arsast W 9RfEF =2 F 99 99 =
¢ Aifee ¥ 28 T & aifufwen F faw =

e 2
[A] (mol L=1|[B] (mol L) ’[m':ol 2 i_l)
0.05 0.05 0.045
0.10 0.05 0.090
0.20 0.10 0.72
Options:
. T=Kk[A][B]
, T=K[A]’[B]
5 F=K[A][B]

, T=K[APBP

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

sl ulba 24 + B C w2, AL vl
Ulsusl srel-seel sigat w2 wEls sl Budl
wldl 5. uEa w2 ol [Ham 5.

N _q,| 2@l 2
[A] (mol L™1)|[B] (mol L) q;lin]l.—'ls—ij
0.05 0.05 0.045
0.10 0.05 0.090
0.20 0.10 0.72
Options:

| PL=K[A][B]
o PL=K[AJ[B]

5 PUI=K[A][B]2

4 PI=K[A]YB]?

:
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Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Adsorption of a gas follows Freundlich

adsorption isotherm. x is the mass of the

gas adsorbed on mass m of the adsorbent.

The plot of log i versus log p is shown in

the given graph. L is proportional to :
m

X
log — | —=____
m

Options:

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TF | T Afagign, wEeefee Aty

THATT 1 WA T 2 | SATEF & m 20
e . x

T Afeiiod T8 =1 =99 x g1 log— &

m

fa%a log p #1 =2 fad T4 7w | =9 T

log L for oo,

m 3
gcollegedunias
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Options:

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
25 ey il grodl 2Bl 2uanld
UMY B, m BN YAl 2EMEL YR x 0

. = = X m~
QL Ay 2ERiMeL i . log— (9324
m

= ) = £ = X = = =
log p L 26w 2 gllde 5. — 21w 24

m
8
-"Tﬁ
log > " i
3 m -'-FFF TR _3_ SRR AR
log p
Options:
2
1. P
3/
p: B
%
2 P
p I
Mathermatics
Section Id : 416529255
Section Number : 3
Section type: . Online gcollegedunias
Mandatory or Optional: Mandatory T s trget Stuons Rviw o
Number of Questions; 30

Number of Questionsto be attempted: 30



Section Marks:
Display Number Panel:
Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

120
Yes
No

1
416529395
Yes

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

1—x
i flx) = I‘)Se[—l 1 x| <1, then
4, | .1 __,'

J 2y ]
.?L[ — 7 |isequalto:
W - .

Options:
1. 11{{;—3}
> —2f(x)

= 2f (x)

. )2

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

S

1
afz f(x) = loge {ﬁ

,x'-il?},Fﬁ
Fl

{ 2x ) .
.a‘[—z e 7
1 +x"

Options:
1 Z'{{J-E}
= 2l (x)

z 2f(x)

L )P

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sin

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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" | o 1 —x i
s f(x)= IDBe{_m], Ix] < 1, «l

At

W14 xz J
Options:
5
1. 2f(x7)

> —2f(x)
= 2f (x)

4 (@)

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If « and B be the roots of the equation
x> —2x+2=0, then the least value of n for

Options:
1.

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
fg Fiff 12— 2x+2=0 % eI o 991 B 2,

xn.
. = 0 e
d n @ JFau 9F, s fam [I? = 1%,
LiE LS
2
Options:
1. 9
> 4

:
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Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
od o @A B oAUl 22— 20 +2=0 Al oflsy

n
&, L [%} =1 o, A U2 n Al et Bud
Y !

8.
Options:
1.

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The sum of the solutions of the equation
Wx =2l + Jx(Wx —4)+2=0, (x>0)
is equal to :
Options:
1 4

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HHTERT]
Wx = 2| + Jxlyx = 4) + 2=10, (x>0)

F Bl F T G 2 .
collegedunia:
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Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
w5301

IWx = 2| + Jx(¥x - 4) + 2= 0, (x>0)

Al G5al-l Hsual £5.

Options:
1. 4

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

COS0 Sino

Let A = [ ) J, (e e R) such that
S COSM

| -

37 ] 1
AT = 1 0 . Then a value of o is :

Options:
1. 0

:
@collegedumag
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Correct Marks: 4 WrongMarks: 1
. CoSsu sina
4T A = :

S1r COS0

W -

]. (e R) 39 T=hT

: L el [ '
df e AT =|, [, TaFTHTAR:

Options:
1.0
am
> 64
1
o 32
T
4 16

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
COSM sino —
(e R) 5 o8l

sino cosa

RlE A= [

32 “ :[ - =) .
AT =11 ol dloadl As [ud
A
8.
Options:
1.0
1
2 64
1
5 32
m
16

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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The greatest value of c € R for which the
system of linear equations

x—cy—cz=0
cx—y+cz=0
cx+cy—z=0
has a non-trivial solution, is:

Options:
1

= 0

3

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ce R & sAfieran oM, Tomes for Higes e
(EEaD!

x—cy—cz=0

cx—ytez=

ax+cy—z=0

F Uh AqeH 7 3, 7 -

Options:
M |

I

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

H3u wdlszel wigld

x—cy—cz=0

cx—y+cz=0

cx+cy—z=0

A 41 G3¢ (non-trivial solution) H0l, d 4 @ collegedunia
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Options:
1, —1

I

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

All possible numbers are formed using the
digits 1, 1, 2, 2, 2, 2, 3, 4, 4 taken all at a
time. The number of such numbers in
which the odd digits occupy even places
is:

Options:
1. 160

5 162

4 180

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

aifl #1i 1,1,2,2,2,2,3,4,4 & U 1Y ol
ol Y9 HEE R 18 2 3™ uen 6
e, fad o o o9 o w2 f
Options:

1. 160

5 162

4 180
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Correct Marks: 4 WrongMarks: 1
1,1,2,2,2,2,3,4, 4 2i5HlL 215 A& Gyt 31
2154 cedl cn Al el =1 8. dl
wigl 25l o8l vy gl dsdl sedl dvasil
i)

Options:

1 160

4 180

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The sum of the co-efficients of all even
degree terms in x in the expansion of

—

; 6
b+ =1) + lx X 1},{x‘}1}
is equal to :
Options:
1 24

o 26

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(x4 Vi 1}6 - vx© 1]6,{1}1}
&+ TAW § x o /Y AUETdg 9g) % IR
a0 S 2

Options:

1 24

> 26

:
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Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
b

G
[x Vo 1} Flex—ofx®-1) - (x>1)
Al [Badzeml, x Al 68l sudsion MM vglL

UL IHL {0l 8.

Options:
1 24

5 26

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The sum of all natural numbers ‘n’ such that
100 <n<200and H.CF. (91,n) > 1is :
Options:

1 3203

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

wHf |t wrha "@EsE ‘n’, I 3 THE 2
100 < n <200 @241 H.C.F. (91, n) > 1, &1 40
g

Options:

1_32@3

5 3221

:
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

¢ Mglds vl ‘n’ 42 100 < n <200 24
AL (91, n) > T 2, dell dus vl
Azl UL

Options:
, 3203

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The sum of the series
2-0C,+5-20C, +8-2C, +11-20C, +... +
:’-,2-3“1::?_{} is equal to :

Options:

1 224

25
-

i
5: 248

4 2?_{1

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
goft 2-20C,+ 5-20C,; +8-0C, +11-0C; +... +
62-20C., %1 A w3

Options:
2
1, 24

5 B colegedunia
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5: 2%

4 ~26

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
8zl 2-20C, +520C, +8-2C, + 11- ’“1[:3
62-20 71} Al wzeq0L 8.

Options:
7
1, 2%

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

lim an e

cquals
x—l) -J"_ W1 CosXx 9
Options:

42

4

2

=3

o5

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
¥ o}
s1n°T X ;
lim e R

x—H) u'{_ A1l 4+ cosx

Options:

42
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Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

sk
; ST x
lim = K
x=0 V2 — 1 + cosx
Options:

| 42

4

4

f-3

V2

4.

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If
I =Y )2
| -1 | V3 cosx + sinx | (=)
2y = | cot 1 ;w COSX + SINX | ,-I'E'U,—J
l LCOS X —\.EFH'II J "2
th i 1t
1en — 1sequal to:
3 5ed
Options:
iy
==X
1. 6
T
— —%
2 3
x-T
= 3]
2%——
4 3

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sin I e,
No Option Orientation : Vertical REACEEC LA

Correct Marks: 4 WrongMarks: 1 b



afg

[ ( J3 sy + & L \
o e B L I'_.alrm | - ({l J
: Lcosx — +/3sinx /) G -
5 'dy
8, —— ST B
Options:
T
— =X
1. 6
T
— —X
> 3
O
= 6
D
4 3

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

-

&l
2 :'Dt_] : 3 cosxy + sinx || " _(U vl
i == L p E D |
’ l‘w \ cosx — 3sinx ) |~
. di
dl = BR. o e ey
dx
Options:
T
— =X
1. 6
T
— =X
S
PO L
= 6
D —
4 3

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sin

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Let f: [0, 2] — R be a twice differentiable
function such that f"(x) > 0, for all xe(0, 2).
If p(x) = flx)+ f(2—x), then & is :
Options:
increasing on (0, 1) and decreasing on

1 (1,2).

decreasing on (0, 1) and increasing on
s (1.2).

= increasing on (0, 2)

i decreasing on (0, 2)

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

£:10,2] = R 21 &R s{aheTE e 59 THE 2
T Wl xe(0, 2) & U f(x) >0 B AR
b =f(x) +f2—2) 2, T ¢

Options:

, (0, 1) W TuT Fe (1, 2) W EEEM 2|

, (0,1) T BRHF A1 (1, 2) 9T M 2|
5 (0,2) W aHA 2

, (0,2) B 2|

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

4RL S f:]0,2] —» R 2 klsadl [au o %
s/l f'(x) >0, Ucds xe(0, 2) U2, o
b()=f(x) +f2—x), A b= :

Options:

. 0,7) W aag 2 (1,2) W wed 8.

5 (0,1) W teqd =i (1,2) R ol ©.

o collegedunia:s
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(0, 2)uz Hed, ©.

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

IfS, and 5, are respectively the sets of local
minimum and local maximum Eroints of the
function, f(x)=9x* +12x"—360° + 25, xe R,
then :

Options:

L S1=1-2,05:5,=(1)

. 5=(—2,1;5,=(0}

= S'j :i - ]-I;Sp_: {{]rz}

. Si={=2:8,=10,1)

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

afg Fe flx)=92% +12x7 —3602+ 25, x € R,
% ¥ Fean qu e 3= fags &
H F: S, 991 S, 3, 7l - |

Options:

L S1=(-2,058,=(1)

, S1=(-2155,=(0)

. 5={-155,=00,2)

, Si=1-2:8,=10,1)

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

od [8Y f(x) =902+ 1203~ 3622425, x € R

AL 22l Yy 2 rld Hen Bigii-u

QU 2454 S 2l S, €Y, L

Options:

1, 51=1-2 055 =l @collegedunias



S,={-2,1};5,= (0}

2
= S'IZI - ]-I;S_'}_:{{]r 2}
4 51={‘3I:5;_=l'lll

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

. bx
sin—
J = dx is equal to :

Sin—
2

(where ¢ is a constant of integration.)

Options:
1 r+ 2 siny +sin2x+c

5 r+2siny+2sin2x+c¢

2 2y +siny+sin2x + ¢

4 2y +sinx + 2 sin2x +¢

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

sinT
P
sin—
]

(38T ¢ Ush HHTEHA 3T 2|)
Options:
1 *+2 sinx +sin2x+c

o x+2sinx+2sin2x +c¢

3 2y +sinxy+sin2x + ¢

a: 2y +sinxy + 2 sin2x +¢

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sin

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

:
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(sl ¢ = Hsanl 210is 5)
Options:
1 X+2sinx +sinx+c

5 r+2siny+2sin2x+c¢

2 2x + sinx + sin2x + ¢

4 2x +sinx + 2 sin2x +c¢

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

I ) -

(x > 0) then the value of the integral

2 —ixoosx and g(x)=log.x,
2 + xcosx .

m

s
g(f(x)) dx is:

—

4
Options:
{ log,.2

lngﬁ.’%
= log,.1
4 logee

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

2 —xcosx

e f(x) = a9t g(x)=log,x,

2 + xcosx

(x>0) @A [ g(f(x) dx F19H

4
3 @collegedunias

Options:



log,.2

log 3
2. OBe
3 log,.1

A Ingee

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

% ’ : : =
sl f{x}: ﬂ M g{x}:]_ggexr
2 + xcosx
x>0, [ g(fdx = .
7
Options:
1 log,.2
Ingﬁ.’%
z log,.1
A Ingee

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The area (in sq.units) of the region
A={(x, NeRxR|0=x =3, 0=y =4,
:I;EIE + 3x} is:

Options:
1. 8

26
>

53 :
=¥ collegedunia:
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Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
&3 A={(x, y)eRxR|0=x=<3, 0=y=4
y=<x2 + 3x} & HAFeA (gl H) 2 -

Options:
1 8

26
3

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Uzl A={(x, Y)eRxR0=x=3,0=y=4,
y=a2 + 3u) o &5 (Al 2i54H)
8.

Options:

1.8

——

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

:
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Lety=y(x) be the solution of the differential

equation, (2% + I}Zl—y +2x(x% + I)y=1such

that y(0)=0. If va y(1)=

i, then the
3
value of *a’ is:
Options:

1

1 16

]
B2 | =

No Option Orientation : Vertical

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
Correct Marks: 4 Wrong Marks: 1

1T y=y(x), A i1

(2 + 1}3% + 2x(x2+ 1)y =11 & 3, Felfeh

y(0)=0 2 =z va y(1) = % 2 @ e
oM 2 -

Op.tions:
1

. 16

M2
b | =

W
sl

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sin
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

collegedunia:
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Rl 5 y=y@) = [Hsa widlsze

(x2+-1}2i_3f +2r(x2+ 1)y =1 -l G4 ©

y(0)=0%5. st Va y(1) = 5 L @ Al Bud

B.

Options:
+*
1 16

b | =

i
i

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let O(0, 0) and A(0D, 1) be two fixed points.
Then the locus of a point P such that the
perimeter of AAOP is 4, is:

Options:
1 9y2 —3y2+8y= 16

5 9x2+8y2—8y=16
2 8x2— Qy?- +9y =18

4 8x2+9y2-9y=18

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
o1 O(0, 0) a1 A(0, 1) &l Ffv=a fag 2, @
vy fog P feh fety AAOP =1 uftumg 4 21, #
fargue 2 .
Options:
1 9y2 —8y2+8y= 16
' @cqllegedunias



> 9x2 +82—8y=16

= 8xZ - 93{3 +9y =18

, 822492 -9y=18

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
4IRL S O(0, 0) =i A(0, 1) « HEid gl .
Al AAOP ALy 4 2e de (65 P -l [Gigua
8.
Options:
1 9y2 —8];2 +8y=16

5 9x2+8y2—8y=16
5 Bx*—Oy*+9y=18

4 822492 9y=18

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A point on the straight line, 3x+5y=15
which is equidistant from the coordinate
axes will lie only in :

Options:
! 15t ond 3nd 4th quadrants

5 15* quadrant
5 15t and 2" quadrants

i 4th quadrant

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

el @ 3x+5y=15 W fraa ww ey, S

fgarieh e | AHgE R, Sae fora 2 .
@collegedumas

Options: <



e, Tgdt aen gqd =qaii °
o deH =g A

ey de fgefa =g o

A

o a4 =gt o

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
0L 3x +5y =15 Uz 219 (65 5 o 2zilell 2
pics 2ildg B, d 55
Options:
L v, (gl 2 gl 2Rerml 2l

o WM AR Wil 2l

5 MUY A (gl 2rerd wusel.

i 22l AL UL,

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The sum of the squares of the lengths of
the chords intercepted on the circle,
x?+y*=16, by the lines, x+y=n, neN,
where N is the set of all natural numbers,
is:
Options:
1 105

5 210
3 320
4 160

No Option Orientation : Vertical

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sin
@collegedunias
Correct Marks: 4 Wrong Marks: 1 ST i arge Sudent Rview it



Ell 2+ y1= 16 9 T x+y=n, neN Erdl
N =i STehd HEnH] & T 2, g HIe TS
Stranatl &l eTaedi & A & 4 2

Options:

1 105

5> 210
3 320

4 160

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ullall x+y=n, neN (sl N = wglas

oAl 218l ), gRL Adn ¥2+y2=16 W

wetlid Wil dend =il 2RuHl qanl
8.

Options:
; 105

5 210
3 320

4 160

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The shortest distance between the line y=x
and the curve y>=x—2is:
Options:
11

N
%)

7
z 8 @collegedunias



Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T y=x a9 9% y>=x—2 % ff= & AT
gh 2

Options:

11
L W2

P2
H
%H:l
-2

o |~

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Ly =x 2 o5 P =x— 2 4R YA e
8.

Options:
11

, W2

ra
e
SH]
-2

o0 | ~1

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the tangents on the ellipse 4x2 + }F=3 at
the points (1, 2) and (a, b) are perpendicular
to each other, then a2 is equal to :

Options M collegedunia



Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
afg d99d a2 +y?=8 & fagai (1, 2) a=
(a, b) W w@if 7¢ vsfrEd wen waqd 2, ql
a2 FE 2
Options:

2
i 17

128
o 17

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sl Guadd 42 +12=8 AL [Cig2il (1, 2) 24
(a, b) =PIl 242l5l Wwayr det @y, dl a2

Opt_i ons:
2
1. 17
128

o 17 M collegedunia



Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The length of the perpendicular from the

point (2, —1, 4) on the straight line,

x+3 _ i
10 -7

Options:

_z‘
e T
1

1 less than 2

> greater than 2 but less than 3

= greater than 3 but less than 4

1 greater than 4

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
forg (2, —1,4) | wa @

x+ 3 y—2 z ” ;
= = - WM T Ag &l
10 - ?
WEE
Options:
{ 28 %42
5 29 HHfoeh 9ig 3 | %A 2
5 3 ¥ s Wy 4 4 & 2

4 4 F s 2|

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sinple!l inaNuactian Ontinn -
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 gcollegedunias



x+3 oy 2
10 =
Yzl doi] dond £,

(€ (2, -1, 4) dl 2

= | ra

Options:

, 2 s wylesl

5 2 &l SR oL 3 Sl 2l

4 8 Sl SAE WL 4 53l 2l

4 4 el U3

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The equation of a plane containing the line
of intersection of the planes 2x —y—4=0
and y +2z—4=0 and passing through the
point (1, 1, 0) is :

Options:
1_x—y—z=ﬂ
5 x+3y+z=

2 x—3y—2z=-2

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

quad] x—y—4=0 a4 y+2z—4=0
ufeeded Tar #1 siafae & arel qun fag
(1,1,0) | & T4 et Fgact &1 T

B

Options:

{ x—y—z=0
5 x+3y+z=

2 x—3y—22z=-2
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Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HHAAl 2r—y—4=0 24 y+2z—4=0 -l
EuA WAl 2 (g (1, 1, 0) izl i
2ol ¥ #ls2el .

Options:
; ¥—y—z=0

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The magnitude of the projection of the

M, M, M

vector 21 4 "’r; [ k on the wvector
perpendicular to the plane containing the

My M P} Ny i i
vectors ¢ 4 Jr bk and | 2; b3k, 18

Options:

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
@collegeduniag



Fa A, M

AfE 20+ 3j + k % W ;o4 o+ k
WG 4 2] + 3k s FE e qae
& A9 Ay 9% YAY % iy 2
Options:

G

2

3 V6
3

4 V2

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
P M M My

Ml ;o4 o+ kWl i+ 2 + 3k
WAL YA A dol did aa 1WEn w, ulkn
. A A A - .

20 + 3 4 koUMENALMA 8,

Options:

G

Z.

3 Vo
3

4 V2

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The mean and variance of seven
observations are 8 and 16, respectively. If
5 of the observations are 2,4, 10, 12, 14, then
the product of the remaining two @collegedunias
observations is : @ mm—
Options:



Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

a1 UET & WIS A1 TEIT 99 8 997 16 2
afg 399 | 5 U 2,4, 10,12, 14 7, &t 99 &
el & TUEA 2 -

Options:

1. 40

- 49
z 45

4. 48

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Uil 2L HE45 e (B0 253 8 24
16 8. od il 29dlsididAL 5 2dlsl
2, 4,10, 12, 14 €14, di edstHl 4 ==eis-il
ARSI e.

Options:

1. 40

5. 49
5 45

4 48

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

:
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Let A and B be two non-null events such
that A= B. Then, which of the following
statements is always correct 7

Options:
, P(A[B)=1

, P(AIB)=P(A)

. P(AB)=P(A)

4. P(A[B)=P(B) —P(A)

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

qET A 921 B 21 v stfre (non-null) BrEIE
ifm AcBR af f= g 8 o9 = ue 2
HE 27

Options:

, P(AB)=1

, P(AB)=P(A)

. P(AB)=P(A)

4. P(A[B)=P(B) —P(A)

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HELS A i B o #1245 g2l © d A = B,
dl Al U5l 57 [Geun el e 9

Options:
, P(AB)=1

, P(AIB)=P(A)

. P(AB)=P(A)

4. P(A[B)=P(B) —P(A)

:
collegedunia:
11111 's largest Student Review Platform

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sin -
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
3 5
-

If cns{u-k[ﬁ]:g, six':{u—[.’.}:I— and

O<a pP< i, then tan(2e) is equal to :
Options:

21
1. 16

63
~ 16

63
5 P

33
4 22

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

a4l

;A 5
afz cos(fa+B)= gr sinfa—B)= ﬁ

0<a Hﬁ% 3, 1 tan(2a) sER 2 -

Options:
21

1 16

63
~ 16

63
5 oL

33
4 92

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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o | G

~ 5 <
sl cos(a+PB)= ,six'.{u—[j}:ﬁ e

S ————

0<a, P< I dl tan (2a) =
Options:

21
1 16

63
> 16

63
5 oL

33
4 52

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

i 1
If « = cos Ii %}, f = tan I[E]’ vwhére
LY -I,l e

OD<a,B< E,thenu—[:’.isequalm:

Options:

mn_l[iU
14,

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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T .
O<a,B< ?.H'fct—-[_’- e 7 -

Options:

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

. 3 ;B ;
sl o« = cos I{—|, p = tan I[—w, el
5) 3)

A

-

0= '-'-CE dla—p=
P 5 &

Options:

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sin

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1 @cqllegedumas



The contrapositive of the statement “If you
are born in India, then you are a citizen of
[ndia”, is :
Options:
If you are born in India, then you are
1 not a ciizen of India.

[f you are a citizen of India, then you
- are born in India.

If you are not born in India, then you
are not a citizen of India.

i

If you are not a citizen of India, then
you are not born in India.

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
F2H
“afe 9 wa § o 2, 91 #9 9Yd & UH
et 7 & OO Y 2
Options:
oz 39 WA | S 8, d 39 "WWd &
| AT TE 2

AqfE 39 HAA % U AV 2, 9 319
o uEa H 5 3

afe st v # 98 o=, @ s wre &
| qrrfe T8 2

4 WHE | T 5 A

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(e ot AHIEL srrd SURcHL 24l €1, dl 43

Mldldl Atks o1, A waEl i
8.

options M collegedunia



sl 4Bl seed oUdMl 24l Sl dl A
ol AelRs 2l

s A GURAAL AoURSs €let, dl dMIzL srey
oML 24l 5,

sd Izl s MRl A2l =4l dl Ay
Rl ARlzs Al

s A MReAL ARIES A2, dl duEL seed
oAl A2l HHl.
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